Rapport Georeferering Laserskanning Host

n Registration Diagnostics

Status: VALID Eegistraticn
Hean Absclute Error
for Enabled Constraints = 0.008 m

for Dizahled Constraints = 0.000 m
Date: 2021.05.08 17 50:04

Dstabsaze nape  Flass prosjekt 2
ScenWorlds

Scanborld [Registration_all 6] (Levsled)
abe_liten YX txt (Leveled)

Constraints

Constraint ID Scankorld Scan¥orld Typs Status WBeight Errox Error Vector

=] ScanWorld [Registration_all 6] (Iewvelsd) abc liten VX tat (leveled) Coincident: Vertex — Vertex On 10000 D004 = (-0 004, 0,002, O 000) =
& ScanWorld [Resistrat:on all 6] {Levelsd) abc liten ¥YX txt [(Leveled) Coincident Vertex — Vertesx On 1.0000 D010 = { O.00B, O.006, O .000) m
a ScanWorld [Registration_all 6] (Ilevaled} abc liten YX.txt (Leveled) Coincident Vertex = Vertex On 1.0000 0009 m (=0,.004, =0,008, 0.000) =

Scanforld Transformations

ScenWorld [Feoistration_all 6] {Lewvelsd)
translatzon: (399483 486, E748233 324, 849 ES4) m
rotation: (-0.0000. -0.0000. -1 .0000):110:6d2 deg

abc_liten ¥X. txt (Leveled)
tran=laticn. (0.000, 0.000, G.Q00} m
rotation {0, 0000, 1.0000: 0, 0000};0, 000 deg

Unussd ControlSpsce Objecis
ScanWorld [Registration_all &] {Levelad)
Vertex = unlabeled
Vertex = Targat]lD | Station-001
Vertax : TergetID : ttl
Vartss Targ=tID L2
Vertex = TarsetID @ &3
Vertex urlabeled
Vertex TargetID 138
Vartex TargetlD 3 %]




